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QUESTION 1

What is the mandatory step for a media recovery of RAC 12cR1 database with encrypted tablespaces?
A. You must close the Oracle Wallet after database mount and before opening the database.

B. You must open the Oracle Wallet after database nomount and before opening the database.

C. You must relocate the sglnet.ora file and remove it from $ORACLE_HOME/network/admin.

D. You must open the Oracle Wallet after database mount and before opening database.

Correct Answer: D

QUESTION 2

You are preparing two Oracle Linux nodes, nodel and node2, for the installation of Oracle Grid Infrastructure, you plan
to use the existing Linux users "grid" as Grid Infrastructure software. What task must be performed before installing the
Grid Infrastructure?

A. Change the user "grid\\" initial login group to "dba"

B. No task must be performed.

C. Change the user ID of the grid user in nodel, node2, or both nodes to guarantee that the user IDs are equal

D. Add "users" to supplementary groups of "grid" in nodel. Or, alternatively remove "users" from supplementary groups
of node2 "grid."

E. Use another Linux user as "grid" might be used for other purposes.

Correct Answer: C

QUESTION 3

During the installation of Oracle Grid Infrastructure 12cR1, you decide to configure the Grid Infrastructure Management
Repository. Where will the repository be stored?

A. In its own single instance Oracle Database 12cR1 database and managed as a failover database
B. In the first RAC database created on the cluster

C. Inits own RAC 12cR1 database with load balancing enabled

D. On a node outside the cluster to guard against cluster failure

E. Within the Grid Infrastructure home as a file-based repository

Correct Answer: A
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QUESTION 4

You are building a new 12c cluster to accommodate the upcoming projects. You are currently working with the network
admin team to define the requirements needed. Currently, the network team would like to get cleared on the protocols
being used by the various network interface needed. Which three statements about Clusterware communication are
correct?

A. For the public network, each network adapter must support TCP/IP. This requirement holds true for both Microsoft
Windows and Linux/Unix environments

B. For the private network, the interface must support the user datagram protocol (UDP) using high speed network
adapters and switches that support TCP/IP. This holds true in the Linux/Unix environment.

C. For the public network, each network adapter needs to support only UDP, which provides low latency. This
requirement holds true for both Microsoft Windows and Linux/Unix environments

D. For the private network, the network adapters must use high-speed network adapters and switches that support
TCP/IP. This requirement holds true in the Microsoft Windows environment

E. There is no mandatory requirement for the protocol being supported for both private and public interfaces. Oracle
RAC and Clusterware aulomatically detect and support any current standard industry protocol

Correct Answer: ABD

QUESTION 5

The Free server pool contains servers that are not assigned to any other server pools. Which two attributes of the free
server pool can be edited by the user?

A. SERVER_NAMES
B. MIN_SIZE

C. MAX_ZIZE

D. IMPORTANCE

E. ACL

Correct Answer: DE

QUESTION 6

Your manager has tasked you with planning an Oracle Grid Infrastructure 12cR1 installation. Which three actions must
be performed before beginning the installation?

A. All nodes are configured with the same operating system and version.
B. Network interfaces are configured for public and private traffic.
C. A valid voting disk file is available on at least one node.

D. Shared storage is available from all servers.
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E. Each public network interface has its own subnet

Correct Answer: ABD

QUESTION 7

You are given the task of managing an Oracle RAC 12cR1 Cluster by using Oracle Flex ASM. Which two statements
are valid?

A. A failure of an ASM instance affects the databases, even if you are using ASM disk groups

B. A failure of an ASM instance affects availability for the databases using ASM disk groups due to decreased
cardinality of available ASM instances

C. To determine whether Oracle Flex ASM is enabled, use asmcmd show cluster mode

D. When deployed, Oracle Flex ASM enables an Oracle ASM instance to run on a separate physical server from the
database server

Correct Answer:. AD

QUESTION 8

The exhibit describes an Oracle Clusterware startup.

init

— w3

cssdagent orarootagent oraagent cssdmonitor

Which item is missing?
A. ohasd

B. ocssd

C.crsd

D. octssd

E. osysmond
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F. oraagent

Correct Answer: A

QUESTION 9

In a clustered Oracle ASM environment, a diskgroup is mounted in restricted mode. Which statement is correct?
A. You can mount the disk group on all the nodes.

B. You can issue any command, as long as you are using the force option.

C. You can open the database located on this disk group only in standalone mode.

D. You can open the database on this disk group only in restricted mode.

E. You know that nobody is using the disk group, so you can perform a fast rebalancing on the disk group.

Correct Answer: E

QUESTION 10

Which statement about the server Flex ASM is incorrect?

A. Flex ASM requires an ASM instance on each cluster node running an Oracle Database instance

B. Flex ASM allows ASM clients to remotely connect to ASM over a network.

C. With Flex ASM ,a small pool of ASM instances can be used to serve a larger pool of database servers.

D. When an ASM instance fails, the database clients and ASM cluster file systems can reconnect another ASM
instance.

Correct Answer: A

QUESTION 11

Which statement about Oracle Flex ASM is incorrect?

A. Oracle Flex ASM enables an Oracle ASM instance to run on a separate physical server from the database servers.
B. With Flex ASM, a smaller pool of ASM instances can be used to serve a large pool of database servers.

C. Flex ASM requires the configuration of Flex Clusters.

D. Flex ASM can be configured on either a standard cluster or a Flex Cluster.

E. Higher availability can be achieved with Flex ASM because if an ASM instance fails, its clients can reconnect to
another ASM instance

Correct Answer: C
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QUESTION 12

Different versions of Oracle Clusterware, Oracle ASM, and Oracle Database can be installed in a cluster. Which three
items correctly describe the guidelines, which govern Oracle Clusterware compatibility?

A. Oracle ASM 12cR1 requires Oracle Clusterware 12cR1 and can support Oracle Database 12cR1, Oracle Database
11g R2 and R1, and Oracle Database 10g R2 and R1.

B. Oracle Clusterware 12cR1 can support Oracle Database 12cR1, Oracle Database 11g R2 and R1, and Oracle
Database 10g R2 and R1

C. Oracle Clusterware 12cR1 can support Oracle Database 12cR1, Oracle Database 11g R2 and R1
D. Oracle Database 10g R2 and R1, and Oracle Database 9/ R3

E. Oracle Clusterware 12cR1 supports Oracle ASM 12cR1 only

F. Oracle Database 12cR1 requires Oracle Clusterware 11g R2 and above

Correct Answer:. ABE

QUESTION 13

On a new Oracle Grid Infrastructure 12cR1 system, you notice that Oracle Flex ASM has been configured. Which two
reasons are valid for configuring Grid Infrastructure in this manner?

A. Increased high availability of database instances

B. Simple grid infrastructure configuration and easier maintenance
C. Increased spare memory on reserved nodes

D. Better performance for the underlying storage hardware

Correct Answer: AB

QUESTION 14

You are installing Oracle Grid Infrastructure with Oracle Universal Installer (OUI). Your goal is a cluster that contains
both database nodes and application nodes. The databases are intended to be under Oracle Qualiy of Services (QoS)
management. Which three OUI choices are required to achieve the desired infrastructure?

A. Choice "Configure a Standard cluster” in the Cluster Type selection step

B. Choice \\\'Yes" in the Grid Infrastructure Management Repository Option step

C. Choice "Configure e Flex cluster" in the Cluster Type selection step

D. Choice "Use Standard ASM for storage" in the Storage Option step

E. Choice "Use Oracle Flex ASM for storage" in the Storage Option step

170-432 PDF Dumps | 120-432 VCE Dumps | 120-432 Braindumps 6/7


https://www.pass2lead.com/1z0-432.html
https://www.pass2lead.com/1z0-432.html
https://www.pass2lead.com/1z0-432.html

P 2L d https://lwww.pass2lead.com/1z0-432.html
ass ea 2023 Latest pass2lead 170-432 PDF and VCE dumps Download

—— https://Pass2Lead.com

F. Choice "Configure GNS" in the Grid Plug and Play step

Correct Answer: CEF

QUESTION 15

You are talking to the network admin team about the Interconnect network in Oracle RAC and Clusterware. Which
statement about the Private interconnect interface is incorrect?

A. Oracle RAC and Oracle ASM instances use the private interconnect for inter-instance communication.

B. Oracle Clusterware uses the private interconnect to exchange Clusterware-related messages among its nodes.
C. It supports both IPv4 and IPv6.

D. It supports redundant network interfaces for load balancing and high availability.

Correct Answer: C
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